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Please check whether you have got the right questlon paper R
N.B: 1. All questions are compulsory. . ’

2. Figures to the right indicate full marks.

3. Draw neat diagrams wherever necessary. « -

Q1 | S A T : IS
a) Explain the determinants of demand. e : 0T
b) “Tangency between indifference curve and price lme is v ! necessary condmon but not a sutﬁc;ent 0
condition for consumer’s equilibrium”, Discuss. ‘

OR g e S T
¢) Explain the minimum wage controversy. ‘ T WS N

d) Explain the concept of Bandwagon effect and Veblen effect. = . o oy W AT 08

Q.2 A S ‘
a) “The firm can maximize its profits, by i ploym;P the factors in opttmal combmanons at which the 07
cost of production will be mmlmum” Explam N
b) Explain the law of variable proporthn Wlth su;table 1llustrdtlon and dlagram 08
OR & &5 A ; o
¢) Write a note on — ‘Learning Curye’. "« . : ‘ ey 67
d) The total cost schedule of a ﬁrm "s glven below from thls denve the TFC TVC, AFC,AVC, ATC 08

and MC of the firm.

Output ) 2 3 ‘, :-'élf- 5
(units) b5 R AR e g
TC (Rs.)> 160 IR 16201 51236 360

Explain th‘.‘* ‘qulhbrlum of a dlscrlmmanng monopohst wﬁh the help of a suitable diagram. 07
help of suitable dlagram cthbrlum of an oligopoly firm facing kinked demand 08

07
08
gs;g}fﬁ enppr,oof and hence they require a testimony from either of
'cu‘twh Bgth of them will be mterrogated separately and do not

[ Alen Confess Alen Don’t Confess
8 years, 8 Years. 0 years, 20 years
20 years,0 years 6months, 6 months

- Hg ﬂ'jOn the basxs of abo pay orf matrix..
o b ,Explam the bas choncepts used in the game theory.
Y i) .Dlscuss d1 ,cmma of both suspects Alen and Jack

Page 1 of 4

307EF761CE1F3E0AB132F19C10C07190



Paper / Subject Code: 71802 / Economics for Business Decision

Q.4 a) State whether the followmg statements are true or false :
-~ 1) Business economics is the applications of economics to business decmons
V( ii) In a market economy prices act as incentives and signals.
7 iii) Profit is m aximized at a point where total revenue is greater than total cost.
(" iv) Economic profit= Total revenue — Explicit cost
" v) The imyperfect information is a source of market failure.
vi) Marke failure does not occur in the case of public goods. \ -'
- yvii)Allocative efficiency occurs when- goods and services are dlsmbuted accor dm g to consumer
preference. ~

b) Give precise meaning of the following
i) Externalities
i) Opportunity cost
iit) Public goods
1v) Accounting Profit
OR ' s
Q.4 Write short note on any three of the following

&) Scope of Business Economics RN
b) Production possibility frontler AN
¢) Expansion path

d) External Economies
¢) Cartels
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